9stufige Grauskalierung zwischerL* und L*\, fur 3 Reflexionen des Umgebungslichts
L*0N=4.0,L*0U=50.0,L*OW=96.O,Y0N=0.4,Y0U=18.4,Y0W=90.0,CQYZYoinQszos.Z
L*N=17.8,L*y=51.8,L*w=96.0,YiNn=2.4, Y;u=20.0, Y;w=90.0,Cry =Yo: Yin=36.2

*
1IE)O+ n0. L*0a L*Or YOa YOr ;L*a Al*ta L*tr Yta (L*r) 12.04(L*tr) 1204 *0r
(D9 9%0 10 900 10 9.0 10 900 1,000 0,000
3 11.2
8 845 0875 650 0721 847 0856 656 0,880 -0,005
111
ST (17 730 075 451 0499 736 0714 461 0,758 -0,008
10.9
6 615 0625 298 0328 62.6 0573 311 0,632 -0,007
10.7
50+ @5 500 05 184 02 518 0435 200 0504 -0,004
j 10.3
@ 385 0375 103 011 415 0302 121 0372 0,002
3 96
sl @3 270 025 50 0051 318 0179 70 0242 0,007
3 8.1
@:2 155 0125 20 0017 237 0074 40 0117 0,008
: 5.8
@: 20 00 04 00 178 00 24 0001 -0,000
AL*1;=11.9 (i=1,2,..,9)  Normierung: Yia=Yow %\‘N $=0,0027
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